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Facitliste til træningssider 
Kapitel 4 
401 

a. 33 
b. 12 
c. -64 

402 

a. 64 
b. -4 
c. 142 

403 

a. 4 
b. -25 
c. 0 

404 

a. 17 
b. 6 
c. 1 

405 

a. x=4 
b. x=16,5  
c. x=-5 
d. x=5 

406 

a. x=.-4 
b. x=-2 
c. x=-3 
d. x=5 
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407 

a. x=-4 
b. x=-1 og x=2 
c. x=-5 og x=-1 
d. x=-10 og x=2 

408 

a. Ikke en løsning 
b. Er en løsning 
c. Ikke en løsning 
d. Er en løsning 

409 

a. Er en løsning 
b. Ikke en løsning 
c. Er en løsning 
d. Ikke en løsning 

410 

a. x=-5,17 og x=-0,56 og x=1,73 
b. x=-8 og x=-5 og x=0 og x=2 
c. x=-12 og x=-8 og x=-5 og x=0 og x=1 
d. x=0,07 

411 

a. −3𝑎𝑎𝑎𝑎 + 𝑏𝑏2 
b. 12𝑎𝑎2 − 4𝑏𝑏 
c. 7𝑎𝑎 + 7𝑏𝑏 + 4𝑎𝑎𝑎𝑎 
d. 6𝑎𝑎2 − 2𝑎𝑎 + 3𝑏𝑏 + 6 

412 

a. −2𝑝𝑝2 + 4𝑝𝑝 − 3𝑞𝑞 
b. 2𝑝𝑝2 + 2𝑝𝑝𝑝𝑝 + 4 
c. 2𝑝𝑝2 − 𝑝𝑝𝑝𝑝 − 𝑞𝑞2 
d. −𝑞𝑞2 − 2𝑝𝑝𝑝𝑝 + 4 
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413 

a. 𝑥𝑥2 + 7𝑥𝑥 + 10 
b. 3𝑥𝑥2 − 𝑥𝑥𝑥𝑥 + 3𝑦𝑦2 
c. 6𝑥𝑥𝑥𝑥 − 3𝑥𝑥 + 3𝑦𝑦 
d. 9𝑥𝑥2 

414 

a. 𝑝𝑝2 + 𝑞𝑞2 + 2𝑝𝑝𝑝𝑝 
b. 𝑝𝑝2 + 𝑞𝑞2 − 2𝑝𝑝𝑝𝑝 
c. 𝑝𝑝2 − 𝑞𝑞2 
d. 𝑝𝑝2 − 𝑞𝑞2 

415 

a. 𝑥𝑥2 + 8𝑥𝑥 + 16 
b. 𝑡𝑡2 − 4𝑡𝑡 + 4 
c. 𝑝𝑝2 − 10𝑝𝑝 + 25 
d. 𝑘𝑘2 − 9 

416 

a. 𝑎𝑎2 + 16𝑏𝑏2 + 8𝑎𝑎𝑎𝑎 
b. 4𝑝𝑝2 + 𝑞𝑞2 − 4𝑝𝑝𝑝𝑝 
c. 4𝑥𝑥2 + 9𝑦𝑦2 − 12𝑥𝑥𝑥𝑥 
d. 4𝑥𝑥2 − 𝑝𝑝2 

417 

a. 𝑝𝑝2 + 2𝑝𝑝𝑝𝑝 
b. 𝑎𝑎2 + 𝑏𝑏2 
c. 𝑥𝑥2 + 4𝑦𝑦2 − 6𝑥𝑥𝑥𝑥 
d. 2𝑝𝑝2 + 𝑞𝑞2 + 5𝑝𝑝𝑝𝑝 

418 

a. Hældningskoefficient: 2  Skæring med y-aksen: 3 
b. Hældningskoefficient: -4  Skæring med y-aksen: -1 
c. Hældningskoefficient: -5  Skæring med y-aksen: 11 
d. Hældningskoefficient: 3  Skæring med y-aksen: 9 
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419 

a. 1 

b. 5
18

 

c. −13
5

 

d. −1 

420 

a.  

 
b.  

 
c.  
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d.  

 

421 

a. ℎ1(𝑥𝑥) = 2𝑥𝑥 − 3 
b. ℎ2(𝑥𝑥) = 2𝑥𝑥 + 1 
c. ℎ3(𝑥𝑥) = 𝑥𝑥 − 4 

422 

a. 𝑓𝑓(𝑥𝑥) = 6𝑥𝑥 + 25 
b. 𝑔𝑔(𝑥𝑥) = 35𝑥𝑥 + 1000 
c. ℎ(𝑥𝑥) = 2𝑥𝑥 + 1000 
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